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« B'SB induced by the fuzzy relation R and the fuzzy set A:

B = {(y, Ha(y)) | Ha(y) = MOX, <1 (eyyin & [MiN (A(X), Ba(x.Y)]

« Let A={(a, 0.6), (b, 0.9), (c,0.5), (d, 0.3)} be a fuzzy set,
B ={x,y, z} be a crisp set, and R be a crisp relation given as
follows:
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« B'SB induced by the fuzzy relation R and the fuzzy set A:

B = {(y, Ha(y)) | Ha(y) = MOX, <1 (eyyin & [MiN (A(X), Ba(x.Y)]

« Let A={(a, 0.6), (b, 0.9), (c,0.5), (d, 0.3)} be a fuzzy set,
B ={x,y, z} be a crisp set, and R be a crisp relation given as
follows:

0
b%y B' = {(x, 0.5), (y, 0.6), (z, 0.7)}
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Probability Distribution Possibility Distribution
« O<p(x)¢1 « O<p(x)<1
« Z.p(x)=1 * no restriction

« A, B, C, Dorganize a chess tournament. The following table
shows the probabilities and the possibilities of the players
on the tournament

A 8 ¢ D p(x) < p(x)
Px) | 05 03 02 0

H(x) 1.0 0.7 0.4 0.1
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Crisp Probability of Fuzzy Event

« consider the sample space S = {q, b, ¢, d} with the probabilities

p(a) = 0.4, p(b) =0.2,p(c)=0.1, p(d) = 0.3
 the probability of the crisp event A = {a, b, c} will be
p(A)=04+02+01=0.7
« the probability of the fuzzy event A={(a, 0.5), (b, 1.0), (c, 0.3)}

p(A) = 0.4x0.5 + 0.2x1.0 + 0.1x0.3 = 0.43
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Fuzzy Probability of Fuzzy Event

« consider the sample space S = {q, b, ¢, d} with the probabilities

p(a) = 0.4, p(b)=0.2, p(c)=0.1, p(d) = 0.3
fuzzy probability of fuzzy event A={(a, 0.5), (b, 1.0), (c, 0.3)}
Aos={a, b, c}, Ags = {a, b}, A = {b}
P(Ag3) = 0.7, p(Ags) = 0.6, p(A;p) =0.2

p(A) = {(0.7,0.3), (0.6, 0.5), (0.2, 1.0)}



